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1. When will the man give the report 1o the woman?
A, In the alternoon, B. In the morning. C. Before ten o'clock.
2, Where does the conversation most probably take place?
A. At a bookshop. B. At a kitchen. C. At a bank.
3. Why did the woman [inish the novel so fast?
AL Because the novel was fascinating to read.
B. Because the novel was not difficult to read.
C. Because she had lunch very quickly.
4. What will the man probably do this weekend?
AL Plant flowers, B. Play in the garden. C. Go to the seaside.
5. Why doesn’t the man turn on the light?
A. His evesight is not s0 good, B, The man doesn’t want to.
C. He can't find the switch.
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6. Where is the woman going?
A. Hong Kong. B. Canada. C. America.
7. How much will the woman pay if she wants to buy 5 tickets for adults?
A, 8000 HK dollars, B. 36000 HK dollars. D. 40000 HK dollars.
< AFSE T ERARL,EEE 810 M,
8. What are the two speakers talking about?
A. The woman's school. B. The woman's {amily. C. The woman's plan.
9. Which of the following is true according to the dialogue?
A. She hasn't decided about her job.
B. She hasn’t thought about her job.

. She doesn’t want to leave school.
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What will the woman probably do in the end?
A. She will go to college.
I3. She will become a secretary,
C. She will become a hairdresser.
WP 8 AP, EES 1113 &,
Why does the woman call the man?
A. To make an apology.
B. To place an order.
C. To ask about delivery.
What product has the woman ordered?
A, Trucks. B. Printers.
Why does the man feel sorry?
A. For the late payment.
B. For the damaged products.
C. For the delayed delivery.
e v BEME, EEE 141—~16 8,

. What is the relationship between the man and the woman?

A. Husband and wife. B. Employer and employee,

C. Co-workers.
. When will the woman know she has the job?
AL In the next few days. I3, The very cvening.
C. As soon as she gets out of the interview,
. What can we learn about the man in this dialogue?
A. He doesn’t have a job.
B. He is seeing the woman off at the station.
C. He is worried about the woman.
WrsE 10 A, EIES 17T-20 8,
. Whose dog is Chevy?
A. Mine, B. My friend’s.
C. My husband's,
. Why do people go to the cliff?
A. To swim. B. To fish.
C. To go cliff jumping,
. Why did Chevy jump off after my friend?
A, He wanted to protect my friend.
B. He wanted to surprise my [riend.
C. He wanted to take a swim,
Why was my friend happy?
A, Because she was saved by Chevy.

B. Because she saved Chevy.

. Because she had a brave dog.

C. Phones.
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1. What is the man's occupation?

A, A milkman, BB, A postman. C. A newspaperman.
2. Why did Janet quit her job?

A. She wanted to be a lawyer.

B. She didn't want 1o work too long.

(. She didn't like the job.
3. Who is the woman going to spend the weekend with?

A, Sally. B. Jack. C. Sandy.
4, Where are they?

A, On a plane. B. On a train, C. On a ship.
5. What did the woman's parents think about the play?

A. The mother didn’t like it. but the father did.

B. Neither liked it.

C. The mother didn't like it because it wasn't in English,
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f. What are the speakers in the conversation?

A, Journalists. B. Workers. C. Tourists.
7. What are the speakers going to do there?

A, To have a news-making event.

B. To do some hard work.

C. To go sightseeing.

CIFE T MR, EES S0 #,
8. What do vou learn about the two swimming pools from the conversation?

A. The big pool in Park Road is much bigger and more modern than the one in town.

B. The pool in town is much bigger and more modern than the big one in Park Road.

C. The two pools are almost the same, r
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9. What are they going to do on Thursday?
A. They are going to swim.
B. They are going to eat at a French restaurant,
(. They are going to eat at a Chinese restaurant.
CREIBRME, EXE 10~128,
10, What caused Mr. Miller to be late this morning?
A. Watching a play on TV last night.
B. Watching a basketball match on TV last night.
C. Watching a [ootball match on TV last night.
11. How did Mr. Miller go to work?
A. By car. B. By train.
C. By bus.
12. What happened to Mr, Miller after his explanation?
A. He was fired as soon as possible.
B. He was fired at once,
C. He has been warned of [ollowing the rules for work.
e o BREE, BIEE 13~16 B,

13. What is the probable relationship between the two speakers?

A. Teacher and student. B. Classmates.
C. Student and job consultant.
14. What kind of pay does the man get?
A. Unreasonable pay. B. A satislactory pay.
C. An excellent pay.
15. How does the man spend his money?
A. He saves all of his money,
B. He uses all his money on trips.
C. He spends some money on entertainment,
16. Which bank does the man deposit his money?
A. The university bank. B. The bank close to his home,
C. The bank near the university.
WS 10 AR, EI A 1720 M
17. What can we learn from the news?
A. No villager was killed. B. 15 houses were badly damaged.
C. Over 200 people were made homeless.
18. How many people were badly injured in the storm?
A, Seven. B. Nine. C, Ten.
19, What do we know about the farmer?
A. His house was destroyed. B. His wife was missing,
C. One of his children was killed,
20. What did the woman do when she saw her house shaking?
A. She tried to take something out.
B. She rushed out with her children.
C, She told her husband not to leave.



| BEWRAGRENSEZ |

A T SR e o N £ N Y S T o SR TR

| : ! ; L S R P R RSV LAY S I'1
AR k1 1 2.3 4 5 6 7 08 9 10 11 12 13 14 15 16 17 18 19 20 #HH l

wEEE

| FEER

H P IR 1E

SE—T (5 NN LSS ES 15 S

R 5 BEAEEE L B AT — AN SR A B A BLC A P o fh B R 9 b 1A
R R B T R A E I + AR AB AT 10 B 6 I 1o 1 25 X/ R B /N 7 B R L —
i

1. What is Rose planning 1o do?

A, Take a ride. B. 'Il‘ravcl. C. Move here,
2. How does the woman feel?

A. Happy. B. Sad. C. Angry.
3. How many blocks did the man have to go 1o get to the Beverly Boulevard?

A. Five blocks. B. Four blocks. . Six blocks,

1. What's the possible relationship between the two speakers?
A, Classmates. B. Mother and son. (. Husband and wife.

What does the man suggest the woman do?

A. Ask Mary to help her, B. Type the data quickly.
(. Hand in the data to the computer center,
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6. Where is Peter going?
A, To Mount Fuji. B. To a hill on the other side of the river.
C. To the countryside.
7. What does Peter think of the people who stay in the houses all day and all night?
A, Clever, B. Frightened. C. Foolish.
CIRETRAEL,EESE S0 M,
8. When does the conversation probably take place?
A. In the morning. B. In the alternoon. C. In the evening.
9, What does the man like to drink?
A, White coffee and orange juice.
B. Black coffee and orange juice.

. Black colfee with orange juice,
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10. What is the most probable relationship between the two speakers?
A. Salesman and customer. B. Master and servant.
C. Hushand and wife,
“UFSE 8 AR, EIEE 1113 8,
11. What does the woman do?
A. A saleswoman. B. A manager.
C. A secretary.
12. Why doesn't the man listen to the woman's introduction?
A. He has lots of things to do with.
. B. The woman didn’t make an appointment in advance,
C. He has only five minutes left for the meeting.
13, When will the woman meet the man?
A, This afternoon. B. Tomorrow aflternoon.
C. The day alter tomorrow.
IRE S BER, EIEE 1416 8,
14, Why didn't Jean accept Michael's invitation to play tennis?
A. She didn’t like mixed doubles,
B. She doesn’t like playing tennis with him,
C. She was too tired.
15. Why did Catherine refuse to speak 1o Fred?
A, He had given her bad advice.
B. She had lost her temper,
C. He didn’t want to go out with her.
16. What opinion did Michael have on winning tennis matches?
A. You must learn how to play in the rain,
B. You mustn’t listen to other people’s advice,
C. You mustn't let things make you nervous,
ITE 10 BARL, EES 17208,
'17. What happened to the Polish boy two years agoY
A. He walked to the North Pole with one leg and one arm,
B. He lost one leg in an accident.
C. He had an accident which took one arm and one leg away from him.
18. How does the boy walk now?
A, He hops with one leg,
B. He walks with the help of an artificial leg.
C. He walks with the help of his {ather,
19, How long did it take the boy to walk to the North Pole?

A, 4 days, B. 21 days.
C. 2 years.

20, With whom did the boy probably go to the North Pole?
A. On his own, B. A Polish explorer.

C. Another young person.

[ 6
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I. Why was the woman surprised?
A, He walked a long distance. B. He was all wet,

C. He lost his raincoat.

S~

Where does the dialogue probably take place?
AL In a taxi. B. In a room. C. On a bus.
3. What does the woman mean?
AL Disneyland is not worth visiiing.
. All Iriends are dull except Tom.
C. Tom is really a bore,
4. When will they have the party?
A, On Friday, B. On Saturday. C. On Sunday.

Where is the woman now?

wl

A. In the hospital. B. In the classroom, C. In the library.
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6. What does the man want?

A. An old pair of jeans worth 25 dollars, B. A jacket.

Co A tree,
7. Why doesn’t the man take the jacket?

A. He's not interested in buying it.

B. The woman doesn't think it looks nice on him.

C. He wants to have a look around before taking it.

WTE T RAMEL EIESE 8—10 M,
8. Which is true?

A, The woman doesn’t allow the man to sit near her.

B. The woman allows the man to sit near her.

C. They know each other very well.
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9, What are they talking about?
A. The woman's job. B. The woman's kids.
C. The woman's teacher.
10. What do they think about the children today?
A, They are clever. B. They are not easy to control.
C. They are easy to teach.
IR EMEL EEE 1113 8,
11. What happened to the girl?
A. She’s drunk some ink.
B. She's drunk a lot of poisonous ink.
C. She's made the bottle empty,
12. What did the man do?
A. Give her first aid at once.
B. Stop his daughter,
C. Take her to the hospital at once,
13. Who's the woman?
A, A doctor. BB, A teacher.
C. A nurse.
O RMEE EEE 11168,
14. What's most probably one of the two speakers?
A. A reporter. B. A waiter.
C. A doctor.
15, Where did this dialogue take place?
A. In Indaonesia. B. In England.
C. In China.
16. On average, how many children are there in a Moslem family?
A. Two. B. Three.
C. Four.
SWTSE 10 BRHH EEE 1720 |,
17. What's Wendy talking about?
A. Holiday arrangements, B. Sandy Bay Hotel.
C. How to get help with any problems.
18, Where will they have their dinner?
A. In the dinning room. B. In a restaurant.
C. In the garden room.
19. What day is it today?
A, Monday, B. Tuesday.
C. Wednesday.
20, What will they do on Tuesday night?
A, Visit a garden and look the sea.
B. Go to a flower festival.

C. Walk down to the beach with some local fishermen.
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1. How will the woman go to the airport?
A. By raxi, B. By bus. C. By car.
2. What didn’t the man notice?
A. The box. B. The sign. C. The color.

3. What has changed since last year?

-~

A. The mountain’s height. B. The woman's height. *. Their ages.
4. Where can you hear the talk by the American writer?
A. In Allen Hall. B. In the library.

. At the English Department.

wn

What does the woman mean?
A. She feels unhappy without the TV,
B. She wants an expert to repair the TV,
(. She wants him to fix the TV at once.
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6. What magazine docs the man take besides the Morning Post?

A. Newsweek, B. New Yorker. (. New Scientists,
7. What's the price [or the Morning Post?
A, One dollar.
B. One and a half dollars,

C. Three dollars and {ifty cents.

"ﬁg 7 &Hﬂgﬁgg g~10 ma
8. At what time did the man begin to listen to the news?
A, At 5 o'clock. B. At 6 o'clock. ©C. At 7 o'clock.

9. What's the news about?
A. It's about the space station. B. It's about space.

(. It's about astronauts.
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10, Why is the man interested in such news?
A. Because he hopes to go to the moon, B. Because he is an astronaut.,
C. Because he wants to do research in space. .
U S B MR, EEE 1113 H,
11. Why does the customer want to return the shoes he bought?
A. The shop assistant gave him two different size shoes,
B. The shoes are broken just after one-day wearing.
C. The shoes are not as comfortable as the ad. says.
12, What does the customer want the shop assistant to tell the shoes manufacturer?
A. Their shoes are the most comfortable shoes in the world,
B. The customers are very disappointed.
C. He wants to be their walking model.
13. Why does the shop assistant wear the shoes when she feels terrible hersell?
A, Because she likes the style of the shoes.
B. Because she is the walking model.
C, Because she doesn’t want 1o get rid of the shoes.
CIFEORMN EEE 1 ~17T E,
14, How does the man respond when the woman decides they should go on a diet?
A. He agrees at once, B. He hesitates.
C. He rejects the idea immediately.
15. What does the woman mean when she first refers to a balanced diet?
A, Eating less than necessary, B. Trying to lose weight quickly.
C. Getting all the necessary vitamins and minerals.
16. Which one of the following statements is NOT true?
A. The man thinks going on a diet never works [or him.
B. The man did go on a diet before. but he failed.
C. They are sure that they can lose weight quickly.
17. What can we infer from the conversation?
A, Losing weight should be gradual.
B. Losing weight is impossible.
C. Losing weight will lead to a cheaper life.
SFE 10 BAE,BEESE 1820 8,
18. What is the passage about?
A. College students,
B. American youth.
C. American population. )
19. How many Americans are there in colleges and universities today according to the talk?
A. 17 million. B. 7 million.
C. 70 million,
20. What are college students deeply interested in?
A. Making a better life for all people.
B. Making trouble in their families.
C. Making trouble in society.

*
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1. How often does the man's wile go to the cinema?

A. Once in a month, B. Twice in a month,

C. Three times in a month,
2. Whart does the man want 1o know?

A, How to send posteards, B. Where to send posteards,
C. Where to buy posteards,
3. What do we learn about the biology class?
A, Tt will take place as scheduled. B. It will be postponed.
C. Tt will be cancelled.
4. Why doesn’t the man buy the overcoat?
AL Tt's too large. B. It's too expensive.
. He dislikes the color,
How many children are there altogether in the woman's family?

AL Five. B. Six.
C. Seven.
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6. How many days a week does the woman go to work?
AL 5. HB. 3 C. 6.

. When will the woman go to dancing classes?

[oy]
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A, On Tuesday morning. B. On Thursday afternoon.
C. On Monday morning.
e 7 B R, B EEs—108H,
8. What are they talking about?
A, The new department where the man's working.
B. The man’s new apartment.
C. How to rent a new house.
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9. Which of the following about the house is true?
A. Tt has a couch. B. It's very noisy,
C. It’s small but very cheap.
10, Why doesn’t the man buy some renter’s insurance ?
A, Because it's a mistake to do so.
B. Because he doesn’t want to,
C. He doesn’t have enough money for that.
PS8 BRHRLEIES 11-13 8,
11. When does this conversation most probably take place?
A, At the beginning of the semester.
B. At the middle of the semester,
C. At the end of the semester.
12, What does the woman suggest that the man do?
A. Study hard,
B. Try to take every exam.
C. Take his mind off his test,
13. What are both speakers planning?
A, To go swimming. B. To play tennis,
C. To play table tennis.
WrsE o Bdr e, BIEE 1416 @,
14. Where does this conversation possibly take place?
A, In a clinie, B. In an office.
C. At a party.
15. What did the man do at the party?
A, He vomited. B. He got drunk.
C. He tasted heer,
16. What is the man’s prohlem?
A. He has headaches day and night, B. He can't sleep during the night.
C. He can’t work during the day.
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17. Where is the speaker giving the talk?
A. On a hill, B. In a [orest,
C. Beside a lake,
18. What is the main purpose of the talk?
A. To deseribe some plants and animals.
B. To persuade the listeners to go on a tour.
C. To make the listeners familiar with the area.
19. What can the listeners do at Summit Lake?
A, Rest and take photos. B. Go boating or swimming.
C. Cook lunch over a campfire.
20. What would be part of the trip?
A. Climbing up rocks, B. Fishing in a stream.
C. Walking through a field.




